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LA & 4,105 4,200 -95
1.7]8F aA PR 2,580 2,640 -60
1.3t A A+ 2,580 2,640 -60
1,99 1,320 0 1,320

1.9 gA 953 1,320 0 1,320 ?;1%%20311%4%@@) £ 55,0009+178 660,000

i;ﬂi%ﬂ%?%@@) : 55,0000 %1 660,000
2.9 1,260 0 1,260
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i;ﬂi"éﬂ%#%(%?ﬁ) © 50,0009 %1% 600,000
2. w2 Hx gl og7ts) 1,525 1,560 -35
LuAddAs 1,525 1,560 -35
1. 02T 1,525 0 1,525
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2,044 875 0 875011] : 35,0009 %259 x13]= 875,000
2. A BR /K AR} F A 32,514 6,439 26,075
1.9 & 31,250 0 31,250
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1.9 e 31,250 0| 31,250
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2. 5A%¢ 566 507 59
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1.3 B2 ) 266 0 266 | S okA T A B M) 9509128078 = 266,000
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1. 88 %) &) 490 385 105
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1. a9 1,618 0 1,618 |FHZE A @ 22,000 #4479 = 968,000
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